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import sys
sys.path.append("statlib™)
from xtest import Breslow_Day_test

Breslow_Day_test(m, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import Breslow_Day_test
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a = Breslow_Day_test(m)

Breslow-Day test of homogeneity for a 2 x 2 x k table
chisq = 8.9432, df =7, p value = 0.25676

print(a["chisq"])

8.943202421541203

print(a["pvalue"])

0.25675965693687053
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import numpy as np

m2 = np.array([[[ 1, 2, 3, 3, 13, 13, 8, 11],
[ 8, 47, 29, 17, 45, 26, 15, 4117,
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from statsmodels.stats.contingency_tables import StratifiedTable
inst = StratifiedTable(m2)
print(inst.test_equal_odds ())

pvalue 0.2567596569368704
statistic  8.9432024215412



